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Seat No.: ________                                                     Enrolment No.______________  

 
GUJARAT TECHNOLOGICAL UNIVERSITY 

DIPLOMA ENGINEERING – SEMESTER –VI • EXAMINATION – SUMMER 2015 
 

Subject Code: 365402 Date: 02/05/2015      
Subject Name: Financial Accounting -V 
Time: 10:30 AM TO 1:00 PM                                                               Total Marks: 70 
Instructions: 

1. Attempt all questions.  
2. Make suitable assumptions wherever necessary. 
3. Figures to the right indicate full marks.  
4. Each question carry equal marks (14 marks) 
5. English version is Authentic 

 
Q.1 (a)  In a company share capital is made of 10000 equity share consist of Rs.100 

each and Rs.80 is paid up per share. Profit and loss account shows credit 
balance of  Rs.200000. On 31-12-2013 company  has decided to reduce share 
capital  and return Rs.30 per share for which necessary amount has been taken 
from profit and loss account. 
     Write journal entries for the above scheme. 

07 

 (b) From the following particulars, determine the value of the equity share by Net 
Assets Method. 
Balance sheet of the company as on 31-3-2013 
Liabilities Rs. Assets Rs. 
1000 ,10% preference 
shares of Rs.100 each 

100000 Goodwill 10000

1000 Equity shares of 
Rs.100 each 

100000 Sundry assets 380000

Creditors 200000 Preliminary Exp. 10000
  
 400000  400000

 

07 
 

      The value of sundry assets, including goodwill was fixed at Rs.510000. An 
unrecorded liability was here of Rs.10000. 

 

Q.2 (a) Determine the value of Goodswill by the capitalization of Average Profits 
method. 

1. Average annual profits of business                    Rs.  12000 
2. Total assets of business                                    Rs.350000 
3. Total liabilities of business                                Rs.200000 
4. Expected rate of return                                          6 % 

07 

 (b) Explain ‘Liquidator’s Receipt & Payment Statement’. 07 
  OR  
 (b) Discuss the factors affecting goodwill. 07 

Q.3 (a) Write a short note: 
1. Remuneration of liquidator. 
2. Defective report of the auditor . 

07 

 (b) Explain meaning and importance of Audit report. 07 
  OR  

Q.3 (a)   Discuss deeply auditor’s civil and criminal liabilities. 07 
 (b) State circumstance and procedure for voluntary winding up of company. 07 

Q.4 (a) Distinguish between clean and qualified audit report. 07 
 (b) State liability of an auditor to the third party. 07 
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  OR  
Q. 4 (a) Explain the concept of ‘True and Fair View’. 07 

 (b)   Distinguish between Audit Report and Audit Certificate. 07 

Q.5  Balance sheet of Navneet Ltd. as on 31-3-12 and 31-3-13 are as under: 
Balance Sheet 

ASSETS: 31-3-12 31-3-13 
Land & Building 480000 840000
Investment 36000 30000
Stock 130000 336000
Debtors 274000 184000
Bank Balance 370000 240000
TOTAL 1290000 1630000
  
LIABILITIES:  
Share capital 500000 600000
Reserve & Surplus 240000 500000
Secured Loan 150000 --
Creditors 350000 380000
Provision for Taxation 50000 150000
TOTAL 1290000 1630000

 

14 

  Additional Information: 
1.During the year dividend was paid Rs.90000. 
2.On 31-3-13 the provision made for depreciation was Rs.60000. 
3.During the year Investment of Rs.12000 was sold for Rs.14000. 
             From the above information prepare working capital statement and 
fund flow statement. 

 

  OR  
Q.5 (a) What points to be considered while preparing audit report? 07 

 (b) Discuss the methods for the valuation of goodwill. 07 
 

************ 
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Ȥજુરાતી 
̆ĕ. ૧ અ એક કંપનીની બહાર પાડેલી મડુી Į.૧૦૦ નો એક એવા ૧૦૦૦૦ ઇિક્વટી શેરોની 

બનેલી છે. Ȑ દરેક પર Į.૮૦ શેરદીઠ ભરપાઇ થયેલા છે. કંપનીનુ ંનફા-નકુશાન 
ખાત ુ ં Į.૨૦૦૦૦૦ જમા બાકી દશાર્વે છે. કંપનીએ તા.૩૧-૧૨-૨૦૧૩ ના રોજ 
શેરદીઠ Į.૩૦ પરત કરી શેરમડુી ઘટાડવાનો િનણર્ય કયҴ Ȑ માટેની જĮરી રકમ 
નફા-નકુશાન ખાતેથી લાવવામા ંઆવી. 
          ઉપરની યોԌનાને અમલમા ંમકુવાની જĮરી આમનҭધ લખો. 

૦૭ 

 બ નીચેની િવગતો ઉપરથી ચોખ્ખી િમલકતોને ધોરણે ઇકિવટી શેરની િકંમત નક્કી 
કરો. 

કંપનીનુ ંતા.૩૧-૩-૧૩ ના રોજનુ ંપાકંુ સરવૈયુ ં
  

જવાબદારીઓ રકમ િમલકતો રકમ 

૧૦૦૦,૧૦%નાપે્રફ.શેર 

દરેક Į.૧૦૦ નો એક 

૧૦૦૦૦૦ પાઘડી ૧૦૦૦૦

૧૦૦૦, ઇકિવટી 
શેરદરેક Į.૧૦૦ નો એક 

૧૦૦૦૦૦ પરચરૂણ િમલકતો ૩૮૦૦૦૦૦

લેણદારો ૨૦૦૦૦૦ પ્રાથિમક ખચાર્ ૧૦૦૦૦
 ૪૦૦૦૦૦  ૪૦૦૦૦૦

 

૦૭ 

         પાઘડી સિહત પરચરૂણ િમલકતોની િકંમત Į.૫૧૦૦૦૦ આંકવામા ંઆવી 
હતી. Į.૧૦૦૦૦ ની નિહં નҭધાયેલ જવાબદારી હતી. 

 

̆ĕ. ૨ અ નીચેની માિહિત પરથી સરેરાશ નફાના મડુીકરણના ધોરણે પાઘડીની િકંમત 
ગણો. 
૧. ધધંાનો વાિષર્ક સરેરાશ નફો               Į.  ૧૨૦૦૦ 

૨. ધધંાની કલૂ િમલકતો                       Į.૩૫૦૦૦૦ 

૩. ધધંાના કલૂ દેવા ં                          Į. ૨૦૦૦૦૦ 

૪. અપેિક્ષત વળતર દર                             ૬ % 

૦૭ 

 બ િલકવીડેટરના આવક-જાવક પત્રકને સમજાવો. ૦૭ 

  અથવા  

 બ પાઘડીને અસર કરતા ંપિરબળોની ચચાર્ કરો. ૦૭ 

   ̆ĕ. ૩ અ ટંુકનҭધ લખો. 
 

૧. િલકવીડેટરનુ ંમહનેતાણુ ં
 

૨. ઓડીટરનો ખામીવાળો રીપોટર્  

૦૭ 

 બ ઓડીટ રીપોટર્નો અથર્ અને મહƗવ સમજાવો. ૦૭ 
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  અથવા  

̆ĕ. ૩ અ ઓડીટરની દીવાની અને ફોજદારી જવાબદારીઓ િવગતે સમજાવો. ૦૭ 

 બ કંપનીના ƨવૈિƍછક િવસȒનના ંસજંોગો અને િવિધ જણાવો. ૦૭ 

   ̆ĕ. ૪ અ ચોખ્ખા અને ખામીવાળા ઓડીટ રીપોટર્ વƍચેનો તફાવત સમજાવો. ૦૭ 

 બ ઓડીટરની ત્રાિહત પક્ષ પરƗવેની જવાબદારીઓ િવગતે સમજાવો. ૦૭ 

  અથવા  

̆ĕ. ૪ અ ‘સાચો અને વાજબી’ નો ખ્યાલ સમજાવો. ૦૭ 

 બ ઓડીટ રીપોટર્ અને ઓડીટ પ્રમાણપત્ર(સટ�િફકેટ) વƍચેનો તફાવત સમજાવો. ૦૭ 

   ̆ĕ. ૫  નવનીત િલ.ના તા.૩૧-૩-૧૨ અને તા.૩૧-૩-૧૩ ના પાકા સરવૈયા નીચે મજુબ 
છે. 

પાકા સરવૈયા 
િમલકતો ૩૧-૩-૧૨ ૩૧-૩-૧૩ 

જમીન અને મકાન ૪૮૦૦૦૦ ૮૪૦૦૦૦
રોકાણો ૩૬૦૦૦ ૩૦૦૦૦
ƨટોક ૧૩૦૦૦૦ ૩૩૬૦૦૦
દેવાદારો ૨૭૪૦૦૦ ૧૮૪૦૦૦
બેંકિસલક ૩૭૦૦૦૦ ૨૪૦૦૦૦

સરવાળો ૧૨૯૦૦૦૦ ૧૬૩૦૦૦૦
જવાબદારીઓ  

શેરમડુી ૫૦૦૦૦૦ ૬૦૦૦૦૦
અનામત અને વધારો ૨૪૦૦૦૦ ૫૦૦૦૦૦
તારણવાળી લોન ૧૫૦૦૦૦ --
લેણદારો ૩૫૦૦૦૦ ૩૮૦૦૦૦
કરવેરાની જોગવાઇ ૫૦૦૦૦ ૧૫૦૦૦૦

સરવાળો ૧૨૯૦૦૦૦ ૧૬૩૦૦૦૦
 

૧૪ 

  વધારાની માિહતી: 
૧. વષર્ દરƠયાન Į.૯૦૦૦૦નુ ંિડિવડડં ચકુવવામા ંઆવેલુ ંહત ુ.ં 
૨. તા.૩૧-૩-૧૩ ના રોજ Į.૬૦૦૦૦ ઘસારાની જોગવાઇ કરવામા ંઆવી હતી. 
૩. વષર્ દરƠયાન Į.૧૨૦૦૦ ના ંરોકાણો Į.૧૪૦૦૦ મા ંવેચવામા ંઆવેલ. 
          ઉપરની માિહતી પરથી કાયર્શીલ મડુી દશાર્વત ુ ં પત્રક અને ભડંોળ 
પ્રવાહ પત્રક તૈયાર કરો. 

 

  અથવા  

̆ĕ. ૫ અ ઓડીટ રીપોટર્ બનાવતી વખતે કયા મĆુાઓ ƚયાનમા ંરાખશો ? ૦૭ 

 બ પાઘડીના મƣુયાકંનની પƚધિતઓ િવશે ચચાર્ કરો. ૦૭ 
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************ 


